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Kerala Teacher Eligibility Test - August, 2012

Category I - LP Section

(Part - 1)

Child Development and Pedagogy - Q.No. 1 to 30
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Observe the Picture given below :

.
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S
S

O

What type of development it
denotes?

(A) Mental Development
(B) Physical Development
(C) Emotional Development

(D) Psychomotor Development
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When Anu was in 4" standard, she
used to participate very actively in
all classroom works. But after
entering 5" standard, she appeared
quite gloomy and in attentive.
Which method do you adopt to
solve the problem?

(A) Observation
(B) Action Research
(C) Case Study

(D) Testing

The developmental stage in which
logical thinking and abstract
thinking are at the best :

(A) Infancy
(B) Childhood
(C) Adolescence
(D) Old age

Which of the following is not a
characteristic of a five year old
child?

(A) Imitates

(B) Acquires body balance

(C) Shows interest in play

(D) Has abstract thinking ability

A child's first means of
communication is through :

(A) Cooing
(B) Crying
(C) Smiling
(D) Through simple words
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A child who used to play with
white rabbits became fearful of
seing even white coloured objects
later. This is due to :

(A) Conditioning
(B) Mental disturbances
(C) Adjustment Problem
(D) Dislike Play

Observe the dots, see whether
there forms a figure? Which
characteristic of mind explains this
perception?

(A) Similarity
(B) Proximity
(C) Continuity
(D) All of the above

According to Gestalt theory,
learning is most effective by :

(A) Repetition
(B) Problem solving

(C) Trnal and error

(D) Conditioning
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10.

As per the Piaget's theory on
Cognitive development, the
following figures are developed to
measure a particular ability of the
children :

&HS1m6rd
< amm @B

Wl B

Fig. No.: 3.1 Fig. No.: 3.2

Here it used to identify :
(A) Reversibility

(B) Ability in classification
(C) Logical thinking

(D) Ability to infer

Minitha had learned type writing.
When she reached high school, she
has to learn computer where she
could able to operate computer key
board very easily. This can be
attributed to :

(A) Transfer of training
(B) Practice on keyboard
(C) Interest in using computer

(D) Simplicity of the keyboard
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"We only thinking when we
confronted with problem". Who
proposed it?

(A) Pestalozzi
(B) Maria Montissori
(C) John Dewey

(D) Rousseaue

When the teacher asked Prathibha
to count 50 note books from the
school storeroom, she had counted
ten books at first. Then she had
four bunches of notebooks of the
same hight. This way she counted
50 books easily.

Here Prathibha manifests :

(A) Visio-spatial intelligence

(B) Logico-mathematical intelligence
(C) Intra personal intelligence

(D) Naturalistic Intelligence

Teacher asked the students to
rearrange the letters in the word
'CTA' to make a meaningful name
of an animal. Most of them could
make it easily. What ability is
measured in this context?

(A) Concepts on animals
(B) Language ability of children
(C) Interest in activity

(D) Interest in play
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14.

15.

While assessing the physical
efficiency of the children in her
class, the teacher Deepa directly
graded them with A, B, C. What
kind of grading is this?

(A) Absolute Grading
(B) Direct Grading
(C) Point Grading
(D) Relative Grading

Observe the figures given below
and choose the right one
representing Freud's idea of human
mind.

(A)

4d

(B)

(C) 4d

Ego
Super Ego

Ego

(D)

4d

Set - A



16.

17.

18.

Code No.

‘Lo OH WO0I8o MO al)EeHes
$)012J01Wo0’, af)M1OZTOB:00 0,
ST1aj@ @RAOS alBlNeM1ee0 may’.
@ M)aflafleeymo, s1ayd :

(A)

(a10GRWDlH @ROIQT 9alCWow
Oas)Em)aNlay.

(B)

6 aleM SO alolvemloen)
amlel.

(©)

wlwo) ladd @0 al@1neMae)
anlel.

(D) oy@&gled myailaflajar eamyo

@eM  alolnemlenamla).
@06¢ 6HHISIOMIC1He)M &H)SIWIeS
(GO SO BHUB U] H6) b
)  @eam aslomel.

) @eAN 88300 HYI0)HU3 O6ME.

i) @eaum veml o s olod
@RBOEBBUB @016 2Ly BHW) 0,
OOQIHUB  QAUO)OD) H®)o
6)alQ))o.

DD &)51W)OS (lLOMONTD) ?

(A) alomaflemossoaimun
(B) alomeeaiselyo

(C) vorIdle: eeIBall0
(D) aomale eeaismeljo

@ON® af)MN &)15160Q 66) 0]
C»515)E6NR0 ? @RAUNY All(MMEME00
aoqled M.Sc. adlvle aoqow.
@LOO®IN M@ EMSOM MOWla]O) :

(A) 0ols)eemowde@:0ms

(B)  goqie@go ealegm ai€lajo)
6 B061E

(C) ®@RELIOAIBOIOSWI0, OHUIMO
HOBIOSW)0 MOMDO BAIOOTVO
aOMo  2IE1a ®)eB06ITs.

(D) 2@l avjailaflajaio@ejoo ao6ns.

: 501

16.

17.

18.

'Jithitha has a treasure of
knowledge on local plants and
flowers, but her teacher used to
ignore it in the classroom'. Here the
teacher :

(A) Doesn't consider the local

knowledge
(B)
©)

Doesn't consider the girl child

Doesn't consider the nature of

child
(D) All of the above

Read the following characteristics
of a child.

1)  He is not lazy
i1) He has many abilities

111)) While doing arithmatics in the
classroom, he used to reverse
numbers and constantly
makes mistakes.

What problem does he face?
(A) Learning Backwardness
(B) Learning Disability

(C) Physical Disability

(D) Mental Disability

Have you heard of Thathagath?
He passed his M.Sc. in physics at
the age of 12. He could do this
because :

(A) He is brilliant
(B) Got immediate acceleration

(C) Got continuous support from
parents and teachers

(D) All of the above
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'Adapted teaching manual' is now
used in the classroom for :

(A) For effective classroom
transactions

(B) To promote learning of
(CWSN) Children with
Special Needs

(C) To catch attention of children

(D) To make
participatory

classroom

'Adarsh a nine year old child, who
is very restless. He couldn't
concentrate on a task and complete
it'.

What problem does he face?

(A) ADHD

(B) Autism

(C) Aphasia

(D) Disphraxia

'A teacher used to encourage her
children to ask questions. She
also used to promote those
children asking good evaluatory
questions'. This process helps the
children to :

(A)
(B)

Learn subject well

Develop critical thinking
ability

(C) Utilize the knowledge of the

teacher well

(D) Ensure their participation

Set - A



22.

23.

24.

Code No.

MOOY 6 0S)EMO18H6) M U 113
‘MBVOCRH® USBOMOMD aBoal)o
ol ® :

(A) (B maldla00em o 1.
(B) claom=as oo

(C) ‘e eqyoaloss’
(D) @remictema’Io.

$)518108  aloMAUMI @)@ W) 20w ]
NITWO]S 6@QOW aflel WM BB
MeIm@d M@ 86 ANy O & 0)
@) . af)B: 103 BRO) aldlnOC]EH)I0MS
aBQjo Il BIBNCAO ?

(A)

O] @REAOUd @O al)enE]
HO0M B B, ) TCT)bb.

(B)

O®QOW WOVEMEBHUB )51 U3
@ean ®loyom)o.

(CO) HoOW ©eITm@d alomomyeal
68303 B0O)H6) @RS VIO

@O} (AldaI®OIHE) H>.

(D)

$)S1H0B8 2QoeVIeSHBal)o
¢a10Gla @lo)Emes.

HO16)2! 0}al1HOMOEDIT aBQal)o
(OWOM M BS®

(A)

@RWL0aldH )OS HYIQI) & U3
Al eM1H6) .

(B)

$)515: 81605 Sl & 8)o,
@R)UUDLEBBRS)0 alBlNEMIBE) dh.

(©)

CRULIWMmRIL6BRUB aldlmem]
£6) .

(D)  uomyatl@aiyo, MoomId:0016
QEOW MRILEERUE al®lem]

H6) .

: 501

11

22.

23.

24.

What instructional method is the
best to ensure development of
creativity among students?

(A) Problem solving
(B) Project
(C) Brain storming
(D) Enquiry

Suppose children possess certain
misconcepts in their subject of
study, what is the best method to
be adopted in the classroom to
solve it?

(A) Indicate the error and correct
it at once

(B) Let it to solve by children

themselves

(C) Organise appropriate learning
experience and help them to

solve it

(D) Let them ask somebody to

solve it

For formulating the curriculum
which factor is most important?

(A)
(B)

Teachers ability

Children's capabilities and
needs

©
(D)

National ideologies

Social and cultural ideals
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26.

27.

When does an activity become
collaborative?

(A) Group members do have a

common goal but not well
organised

(B) Well organised, but do not

have a common goal

(C) Well organised group,

working on a common goal
(D) None of the above

Read the definition given below.
"It 1s our ability to know what we
know and what we don't know".
What does it represent?

(A) Cognition
(B) Intelligence
(C) Meta Cognition

(D) Knowledge

According to Katherene Bridges,
a new born child does possess only
one emotional state at the time of
birth. Then, What it 1s?

(A) Distress
(B) Delight
(C) Diffuse excitement

(D) Disgust.
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28.

29.

30.

How does Piaget relate the
cognitive structure of a person to
his environment?

(A) Cognitive structure develop
freely without having
environmental influence

(B)

Cognitive structure develops
through the interaction with
the environment

(©

Cognitive development is
purely a biological process

(D) None of the above

'In Maslow's need hierarchy’,
which is the highest need that does
a person aspire?

(A) Safety Needs

(B) Physiological Needs

(C) Self Actualisation Needs
(D) Self Esteem Needs

Which one is not useful to adopt
in Primary classroom as a

scaffolder?

(A) Make use of the acquired

knowledge

(B)

Let students share experiences
related to the issue

©
(D)

Repeating and mastering idea

Let students to share their
incomplete ideas
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31.

32.

33.

In the natural number [7]7(7)7 7
how many times the place value
of 7 in the circle is the place value
of 7 in the square?

(A) 10
(B) 100

(C) 1000
(D) 10000

5.10m cloth is required for
stitching shirts for Arun, Ajith and
Abijith. Arun requires 20 cm of
cloth morethan that for Ajith.
Abijith requires 10 cm cloth less-
than that for Arun. How much
centimeters of cloth is required for
Ajith

(A) 150

(B) 160

(©) 170

(D) 180

When a five digit number is added
to a four digit number which of
the following cannot come as the
answer?

(A) 109988
(B) 109989
(C) 109998
(D) 109999
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2.16 @ ago 100 HUB o6nE.

(A) 6
(B) 16
©) 21
(D) 216

100 ©)aides 2o auoseRleajoud
oalldes 50 e6alm, 1 0)al, 2 0)al
MOM W EBB8)0 5 0)al B)OL)SS
af)ejo @MIg)d8)o LIElaf). f)H:1ed
@RWOUBHE 151 MO6M W BB S)
OSW)o BMIg)®HB1OSW)o GO
a)eeOA® ?

(A) 10

B) 9

) 8

(D) 7

80 eauadlalgd angsanss 6o)
2l O™IOM afQaijo &)STw
Al 80l ag)@ al®)oWoeVAgITnd ?
(A) 80

(B) 400

(C) 1600

(D) 6400

@S2I MOAT ag)eIP@3 VoL
5 B)OS M WIBHIM MVOWIOW)
88O 009 6BIS)EMIO1E6) MM Al
NG aF® VoL W BE) G@ReM?
(A) 17

(B) 18

©) 19

(D) 20

: 501
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34.

35.

36.

37.

1 i
100 are there in 2.16

How many
(A) 6
(B) 16
(©) 21

(D) 216

When 100 rupee note was changed
Ravi got coins of 50 paise, 1
Rupee 2 Rupee and all notes of
denomination of Rupees 5 and
more. What is the total number of
coins and notes he got?

(A) 10
(B) 9
(C) 8
(D) 7

What is the maximum area in
square centimeters for a rectangle
of perimetre 80 cm?

(A) 80
(B) 400
(C) 1600
(D) 6400

Which of the following is a
possible sum of four consecutive
counting numbers?

(A) 17
(B) 18
(C) 19
(D) 20

Set - A



1 v 1
38. 15 &1eeio(noo ®enosles | 38, IflakgoftomatocostsRupees30,

30 o)yar@oem alflel ag)Mmo@d

3
3 what is the price of 2—kg of
2Z &1CRI0(N00 O E6081W)6S 4

aNelew@ ? tomatos
(A) 45 (A) 45
(B) 50 (B) 50
(C) 55 (©) 55
(D) 60 (D) 60

39. 500 g calajolay 140 oyaiosmy | 39. If 500 sheets of paper costs Rupees

aflel agmo@d 8oy a1y ealajdload 140, What is the cost of one sheet
afel ago ? of paper?
(A) 0.14 o)au (A) X 0.14
(B) 0.70 o)al (B) X 0.70
(C) 0.28 oyai (C) X 0.28
(D) 1.40 o) (D) X 1.40
40. 77 X 555 o @)elo0o 40. Which of the following is equal to
77 X 555
(A) 55 x 777
(A) 55 x 777
(B) 755 x 75
(B) 755 x 75
(C) 75 x 557
(C) 75 x 557
(D) 775 x 55
(D) 775 x 55

Code No. : 501 16 Set - A



41. ©00¢ o80s)om0leeym somdnoo | 41. In the following Tangram figure
2 @O GaHW 6 2lP®IG1ee)aM how much part of the square is the
(@1CBH6Mo @O al®) 0163 shaded region
af)(©® @ONAJEM ?

1 (A) =
(A) 7
1
B) =
1 9
B) 3
9
1
1 (©) "
©) 14 1
| (D) 6
(D) 6

42. 80} Maal®y0omlem aloajsal | 42. The area of a square is 100 cm?,

100 a1y 0(wweaudInIgd @6 A new square is obtained by
oo alwe 1 om.ol. aidavle| increasing the sides by 1 cm. How
208 &15)0M VA aI®)0 o6 much more is the area of the new
al® |80l @REYEEm®em H90ud square than the area of the first one
)@ B)S)ORI0W]O1H6)0. A) 1
(A) 1

(B) 10
(B) 10

C) 11
©) 11
D) 21 (D) 21

Code No. : 501 17 Set - A



43.

44.

45.

Code No.

60) 2l@EO6Mg al)osal 28 em.a’.
@em oo®led moeln)el ©1ed
mlanye 1 emu.al. awomss socoo
MUR2 10068803 2)012)}20d]. ag)s;1e3
GUOaHlHHYM RO OO 28T
afl® 6Mglalod ?

(A) 28
(B) 24
(C) 20

(D) 16

®o6Y 6@ 0S)om0l66)an @103
aB@lem 20eyH@EM 18 @leqs)
OHNISS|HH U3 MLIAUMOIW)0 DalBWI
nla] MBME6008 HEIWYANG@) ?

(A)
(B)
(©
(D)

ESTON QOIS
MR I®) O GoRo
alerIE)RMI oo

aHUIR)RMV®oRo

1,3,7,13,21, ......
@RS TVo6LY

D aldegemieal

(A) 29
(B) 31
(C) 33

(D) 34

: 501
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43.

44.

45.

The perimetre of a square is 28 cm.
A square of side 1 cm is cut off
from each of the four corners.
What is the perimetre of the
remaining part?

(A) 28
(B) 24
(C) 20

(D) 16

Which of the following model can-
be constructed using 18 match
sticks completely.

(A) Rectangular prism
(B) Square prism
(C) Pentagonal prism

(D) Hexagonal prism

Which is the next number in the
pattern

1,3,7, 13, 21, ........
(A) 29
(B) 31
(C) 33

(D) 34

Set - A



46.

47.

Code No.

80) ®lcuengl 30-06-2012, 13.300Y
af)06MOBHISOMIMIMN0 al}0als
2-07-2012, 11.4007 cw@danl@1@d
Q) O®)aN)  af)B 108 OO Q) &6)
af)S}O® MLAWERA(® ?

(A) 70 aemleed 10 2lmg
(B) 44 asmleeyd 40 almlg
(C) 46 asmleed 10 almlg
(D) 47 aemleeyd 40 almlg

DaHS1d OBoens MIdmilay alailg)
aISl@)es 2l(@206em @I6Y 6d90S)
O 101686 M ©).

oo ol 10 equapss o)
21015)alsT M1 £60M  ag)(®
DaUSls GQleMo ?

(A) 55
(B) 50
(C) 45
(D) 10

: 501
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46.

47.

A train starts from Ernakulam at
13.30 on 30-06-2012 and reaches
Delhi at 11.40 on 02-07-2012.
What is the time taken for the
journey?

(A) 70 hours 10 minutes
(B) 44 hours 40 minutes
(C) 46 hours 10 minutes

(D) 47 hours 40 minutes

Given below is the figure of a stair
of bricks. How many bricks are
needed to build a stair of 10 steps
like this

(A) 55
(B) 50
(C) 45
(D) 10

Set - A



48.

49.

Code No.

WM DENMBISHIM)8S 60) (V1
@M @IBY 6)&IS)OT 0L O).

3

1 2 | 4 6

3)

DO DalcWoNla] HOWM O6N0H6)]
WO OO &HOMIMMITE aB®
©)alD06M) DRI G ?

(B) 3

(A)

(©)

(D)

ﬂ§ BN

0.1

"kgooerﬁ ?

Sleeon’lgd  aglo  alell

(A) 1000000
(B) 100000
(C) 10000
(D) 1000

: 501
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48.

49.

Given below is
constructing a dice.

a grid for

3

1 2 | 4 6

Which of the following is the
figure of a dice constructed from
this grid?

17
(A) ﬂ

3
(B) 5 4
-

How much millimetre is 0.1 km.
(A) 1000000

(B) 100000
(C) 10000
(D) 1000

Set - A



50.

51.

52.

Code No.

78 X 96 X 54 = 404352 @myem
ag)®1od 39 X 48 X 27 ag® ?

(A) 25274
(B) 50544

(C) 101088

(D) 202176

OO 6 0S)EMO186) M U 113
ANOM(H1WWIHS @YHUOWo @RLID
OO RO ?

(A) oeymow) allolesod
(B) epaudoomm ayaiseimo
(C) @mudomm queelMo

(D) memomoolens allaioloo

wemlmalomME™1eOd eleuinow]
ag)B. V1. ag)ad 2005 o)eamog
OB BRYUOV BTN ITB OISO D)

aR® ?
(A) alloom@ies weMOAUGEO6Mo

(B) vemoomleng 6yuoiao oo
6rmo.

(O) 66201 GoWIE8 &)5)O @B
NeMI®O VD W 6BBUE 2UBHQ|S)

©10) @0

(D) (1@ moalvwnm o] 86

(alOWOMio MTBH OB

: 501
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50.

S1.

S2.

78 X 96 X 54 = 404352 Then
what 1s 39 X 48 x 27

(A) 25274
(B) 50544
(C) 101088

(D) 202176

Which of the following is not a
concept related to division

(A) equal distribution
(B)
©)

(D)

repeated subtraction
repeated addition

opposite of multiplication

Which of the following is not a
goal of Mathematics learning as per
NCF 2005

(A) Mathematication of thought
process

Visualisation of Mathematics

(B)
©

Including more Mathematical
concepts at primary level
(D) Giving importance to the

method of problem solving

Set - A



53.

54.

55.

Code No.

2012 esulw vwemlouoomi(@aidau
201 @YEARIHIBEH}MD® @YWOYOS
206ImaNa0e] mMIMWealgoen) ?
(A) OMIB0021003

(B) enoyesm

(C) (tanmyaiomd

(D) wWwelmlatoueomom)=md
NeMI®UDINV (@ lOMOD T @R D

o)allsoemomlend allailw celges
806N IOY 6EHIS)OTC1E6)NO)

(@) all®eERs)20R] NITWEe|S)OTo)]

(b) mBemaow aMi®)eeud 9al
coulla]

() ®PM)EWIRINOIW EIaUWIDED
(alSlafla]

(d)
MWAUOW GBRHUVO)allH oM Om1003
OB (HROIS)OD) .

(A) [b,c,a,d]
(B) [b,a,c,d]
(C) [c,b,a,d]
(D) [c, a, b, d]

aflaMeER8) 2001 MINWE SO,

80) wemlogkoqlod S’lajd @ealelo
nilessez olo) @ReJOOO)

(A)

216000F ol CGal0368303 ©aMN
NH6) b

(B)

)20 (alUBMeBBRG)o MIIBWOoEMo
6210 )0 BHOS) B db.

(©

(ruIo QfleKdflo)mond @KV
B0)HO) .

(D) ei8lono® 980a006meBRS1R)6S
2/l0860M  @lalOlaflee)d:.

: 501
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S3.

54.

55.

Whose birthday is related to the
celebration of National year of
Mathematics 2012

(A) Bhaskaracharyar
(B) Aryabhatan
(C) Bhrahma Guptha

(D) Sreenivasa Ramanujan

Given below are the various stages
of concept building in Mathematics
learning

(a) Relating to figures

(b) Using concrete objects

(c) Expressing in appropriate
language

(d)

Arrange these in the order of
concept formation.

(A) [b,c,a, d]
(B) [b,a,c,d]
(C) [c,b,a, d]
(D) [c,a,b,d]

Relating with symbols

Which of the following is not a
practice to be followed by teacher
in a Mathematics class

(A) raising thought provoking

questions
(B)
©

working out all the problems

making opportunity for self
evaluation

(D) encourage thinking through

simple examples

Set - A



56.

57.

58.

Code No.

@RVWAM ©lolw)es MVANEUAHU®

(A)

B0) OlMO@IOWIG3 MmIan)o
B0) (AIBMYH (alLOMODGRIBE)

(B) @precmdo 969qa006meBRs10d
mlanyo B0) 6 aldo®m)® ®IOm]

GRIHE)

(©
(D)

80) O®IOMON @RAlNLOMO

al0’l &:11 6M O 1211 6)S
UM O©® 6OS1WV]E6@0.

6B0)

2l)QAUOS OdHH0S) O 01H6) M @103
lald M Q1o % e1m Em1ea calgo

@RRIOOD® af® ?

(A) (a1BmMo H{OIOCWS MIdemM

lee)amn).
(B)
(©)
(D)

QU@ AUSEUD SHONED)).
(B 621Qam).
@PRM)CWIRNOW QS ODOIOETOTD)

S)86)aM).

21O al0aBT GHIAMIMSS
aflaflw eaIgEEB8eMm I8¢ 6)d:IS)
OOCHH}MG). DA al0al8alled
@QYUWo @AM laflee)MmM®lend
@RSIMNOIMODIGD (HD6 Q]SO d>.

a: milsano aAlolwio ©@oled
n)6ma]

b: g meaimesesed mlooolals]
C:  @mlg MRal®)OHSEERUB 1U04]
d: quomi, ealoqU::od ay®eln
@A 9alc@oUle] ag)errlemoss]
(A)
(B)
(©)
(D)

[d, b, c, a]
[d, c, b, a]
[c, a, b, d]
[a, b, ¢, d]
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23

56.

57.

58.

Which of the following is the
characteristic of induction method

(A) From a general principle to a

particular problem

(B)

From many examples to
general principle

(©
(D)

Analysis of a principle

Establish a fact through
experiments

Which of the following is not a
stage in problem analysis

(A) Identify the problem exactly
(B) Identifies various ways
(C) Workingout the steps

(D) Choosing appropriate method

Different stages of finding the area
of a rectangle are given below.
Arrange them in the order of
introducing the concept of area

a: By multiplying length and
breadth

b : Spreading unit squares
c: By drawing unit squares

d: By counting, using stamps,
postcards etc.

[d, b, ¢, a]
[d, c, b, a]

(A)
(B)
©
(D)

[c, a, b, d]
[a, b, ¢, d]

Set - A



59.

60.

Code No.

#1531 H 8108 Vdwooas M)eljo
USAOMOIMSS (AIQAUBE®Mo aB® ?

(A) »EeMmmUMN @O QIO
£6) @0

(B)

U@ LTV @ al@®) 0 683 8)6S
20801 &6mE)allSleandd

(C) moae mowanmowl enirw
®als algle  allvo & eimo

621Q)@©@d

(D) =yjo01o1® ©)alBBU8 ©QO

00861 MO0 OBHIS)HEMD

wemlo omleal 680y MIEA06m
lalldommEmlend ailalw calges
8o6M IO ©BHIS)OV 0166 TN O).
DAUOD (H26QSIOD] af)P}O)DH>.

A ofHCRUD DO S ©)alld O]
£6) ).

b: @rmewominow Al /| Oals
©6MoO  HEENSEMYM).

C: 9maMenm (Lo alfleiwo)
@Y aN).

d: sjoyjo, medoo ol
aloefla] M3 1® andom@o
£6) ).

(A) [a, b,d,c]
(B) [c,d, b, a]
(C) [b,a,d,c]

(D) [a,d, b, c]

: 501
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59.

60.

Which of the following activity can
lead to developing creativity
among children?

(A) Preparation of multiplication
facts

(B) Finding perimetre of various
rectangles

(C) Analysing tables relating to
time and distance

(D) Constructing and colouring
various geometrical shapes

Various stages of a construction in
mathematics are given below.
Arrange them in order.

a: Formation of approximate
model

b: Identifying
method / tools

appropriate

c: Self evaluation of the product

d: Completing the construction
with precession and accuracy

(A) [a, b,d,c]
(B)
©)

(D)

[c,d, b, a]
[b, a, d, c]

[a, d, b, c]

Set - A



Environmental Studies - Q.No. 61 to 90

61.

62.

63.

Code No.

H6) BOMo ©alQY)EMUU af)S)He
Oa]S)aM EM@EWo ?

(A) ecimBay
(B) comodemlw
(©) e0glm
(D) eagolny

a10(Bwod- I ear “@)end almenoses]
20qj@’ -6 (alowomio ?

(A) 210(BAODEBRB)ES (@683
68S) o).

(B)

210(BAUIM & EBB 68 £6) 0la]
lIo6BBU8  cUo6LM1a)).

allMBmeel 2elnotdo MuAlE s,
©la]).

(©)

(D) aummlear womeeud @lolay

oleorm).

WO (@0 af)M@1EMIS agaljo
COE]HNMN (AITV@IQAUM aB® ?

(A) oamanyd ©)alle:ola) @oolal)
HB)OS VMW BRAIWYOS
N} lO®W)0

(B) omauyd o)allecla) @oolal
S 810S MVERA Ao GO
BMSIMD (A IEWIRMOQIS)OT0/ I

@REMIaHEM  (al(d|QW)o.

(C) am)arym@ msomIl@ @REM.
aH6M  (al(&OW)o @RAIW)OS

M AlO®)0

(D) womim=emmaod ecmsl @an

@O0 B> 0B
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61.

62.

63.

The part of the eye which is taken
out during eye donation?

(A) Lense

(B) Cornea

(C) Retina

(D) Iris

The 1importance of moon

mineralogy maper is Chandrayan
-Tis

(A) Taken the photographs of
moon craters

(B) Collecting information about
lunar gases

(C) Confirm the presence of water
in the moon

(D) Identify the minerals in the
moon

The most suitable statement for the
word 'Science'?

(A) The cumulative knowledge
acquired by human race and
its effectiveness

(B) The cumulative knowledge
acquired by human race and
the process of enquiry

involved in it.

(©)

The process involved in the
enquiry and its effectiveness

(D) The knowledge acquired by

scientist

Set - A



64.

65S.

66.

67.

Code No.

@E3aHIeaP M) @GOONOEONB H006MmM
ergleoriom woloool@d
63 @oWle MomMIEL 6.

(A)
(B)
©)
(D)

@pa)almlwo
cmowlwo
£alog0V o
&0 )M

B0BENUENT HOM 6308566/ TVWAOWS]
INWANIRIOED (AlMI@IAUM oGO ?
(A)
(B)

A0 AOUID BAI6M).

(aldh0 D (Vo GUYY aH 6T oM
@RQUUD Y MO6M.

©)

&»oBerUend alolaly O @lod
alth) Ua0le6)an).

(D) ®ocauoemd cuwooakem o1y

SOOEM A0 (M),

B80) €aISles AU8BoeWw 6AISSo
ag)6BB6 M MIOWIMIHH)M) af)an
al@1&H6em  (alAUGCMEMIEE (MW
(TI® al0o @RAOC® RO ?

(A)
(B)
(©) easso
(D) o6y

M) @} aldH0ud0o

Q8o

@RanN0O U oelRIWIeRl (alOlnd s
DaIGRIGMONIOEN ?

(A)
(B)

©)
(D) atomi

adEIOIVAV 68303
al)@32]os]

o8

: 501
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64.

635.

66.

67.

One of the causes Alshemers
disease is the excess presence of

(A) Aluminium
(B) Sodium
(C) Potassium

(D) Iron

Which one of the statement is not
related to Carbondioxide?

(A) Greenhouse gas
(B) Essential for photosynthesise
(C) Involve in Carbon cycle

(D) Cause depletion of ozone

Which one of the following is not
the controlled variable in an
experiment that find out the
influence of water in plant growth

(A) Sunlight
(B) Manure
(C) Water
(D) Soil

The primary consumer in a food
chain is

(A) Green plants

(B) Grass hoper

(C) Frog

(D) Snake

Set - A



68.

69.

70.

Code No.

©O(@TW) MO ) M @) DOW]T  rUMmW
Oalg OOQIW (AIMNI@ICUM aB® ?

(A) m)oyowval emdeoeu@lod

MLERUE1H6) TN).
(B) eyl 80) @®osyaomoem
(C) er)plw)es Me@d @I 6
SHOOEMAOHHIM).

(D) e)nlw)6s alolienemmaoem

QI MNHE HOVEMo.

e &0) arim)adlem aymymun Gluo
Wlod Mele:Hlead, @@ o lwleal
20Q68BU3 ®1012]01®E3

o aflallw GG @IWenss aImo)
SO0 Ao 9oeBsIed mlam)
@OOPEHSIMO MoeNIMUWla) al@lEUOWM.
o mlPandUdes LAV IMM)AV
@laj ©6NBOHIM A0QEBRUB (1@l MH]
SO, QAUL@LOMVo HEEITBOTG.
MHDalOMOMIRAMBSIRNOS GMSO
QNN (ald@IGUWH] aB® ?

(A)

(B)
(©

QAUBW1H06mM  GUDAH]
MVOALLONIMWEBBU DalCWIW]H6 @D

MLOAIS0LINIMEBRUT ©alCWO
N H6 @D

(D) @myuwalmloweuoayl

@113 =1nile:8)es mlaimigialltmo
WOOROW @RMMO Y ODHUN0QT Mel
MIO®M® ?

(A) eoemoal0l®Aalo VYOO U0]
&8 @RWI0EMo 6alQ)aNO)
6)B061TS

(B)

@DENAI0IMRI0 (Al®hdUdOUIR]HHAS
(al@aneila{leeymm) e &06ns

(C) evenraldl®meiomenl (ald0d
OUDIB®HS)IOS (@ laN/IMEBBS) o

al)M3(al@1aNBIMEBBB)0 HB:I6MNE.

(D) ®oemuoend alogleyes o]

BLID)BS OO B06NE.
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68.

69.

70.

Which one of the following is the
wrong statement about might?

(A) Light passes through strait
line

(B) Earth is opaque
(C) Shadow of the earth

(D) The revolution of the earth

Observes an object in various
directions and find out the change
in shape.

Examine what happen when
various objects having different
weight dropped from various hights.

Observe the changes occures in
shadows according to time.

The most appropriate process skill
acquired by children through the
above learning experience?

(A) Classification

(B) Using number relations

(C) Using space-time relations
(D) Communicating

The maintenance of atmospheric
temperature suitable for the
existance of species in earth is

(A) The sun rays are absorbed by
the earth surface

(B) The sun rays are reflected by
the earth surface
(C) The reflection and re-

reflection of sun rays by the
earth surface

(D) Presence of ozone layer

Set - A



71.

72.

73.

Code No.

Mo Mo BA1He ST 2l(BA3
QUO)EMI0U8 Mo 1H)M (al®]
©0(vo ?

(A)
(B)
©
(D)

2l(BlNaO6Mo
MO (NaO6Mo
almdemal

@OV

80) Wwonomleeal allsysalad 90
VOOAIMAI0 alOMUOIN® VB
BLNVOD VM DalEWOINH]S) O}
mo. 10 vo@momo als)sud
al02lHIOMEH0 DalCWIW]HR)MN).

) SIS OBHOSYO GO0 il
01800M aB® @O0 2l0@506mM
afQQjo GPMICWORY0 ?

(A)
(B)

©)
(D)

(s 21083

esenild 21003

680l 21085

a0G80 210483

‘BOOOTV MVOHQAL af)aM  LOITV(®
MA@ NUITWEASO ?

(A) ooenil

(B) cwoomi

(©) eme]

(D) galoso
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71.

72.

73.

The phenominon which occure
when moon comes between sun
and earth?

(A) Lunar eclips
(B) Solar eclips
(C) Full moon

(D) Dark moon

"90% of homes in a village is using
convensional energy source for
cooking. While 10% are adopting
LPG as their energy source".

Which is the most suitable chart
form to illustrate the above data?

(A) Tree chart
(B) Table chart
(C) Pie chart

(D) Flow chart

'Oryza Sativa' - Is the scientific
name of ___

(A) Rabi
(B) Wheat
(C) Paddy

(D) Maize

Set - A



74. ®)5ODCIOAISOOD® aR® ?

(A) almadaled
(B) emogodalomelysud
(C) =meweaB® mMeiwo

(D) @remaimleiwo

7S.

&)Sk0d

auallevosvosed |12 (314 (5161(7 (819 (10

1. vamlatio
a)pIR@m)M).

2. Gal08y68RC808
(ol @ @16 ),

3. o @lonow
Ganomiloiad
®9elnl0}o
(al@Slfleeym).

4. atomam)snimu
(nlIAEMERRE]@d
@300
(al®Slafleeym).

2)&S108 OB0SYEMIOBNIND af®)
AUROVEMIG &alsSyam).

(A) cogled aUedeicd
(B) eaiseiqy
(C) @rmaemoged oleesodal

(D) sy0leaiglal olesoodas
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74. Find out the odd one?

(A) Wind mill

(B) Solar pannel

(C) Hydro electric power station

(D) Nuclear power station

75.

Traits

Students

5

6

1

1. Punctuality

2. Responds to the
questions

3. Shows interesting
in scientific
hobbies

4. Active 1n co-
curricular
activities

In which category the tool
mentioned above is included

(A) Rating scale

(B) Check list

(C) Anecdotal record

(D) Cumulative record
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76.

77.

78.

Code No.
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(B)
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(B)
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(C) aoanmimeo, anM3CUIeNI)HS),
ag)Mmiles] (alU@EmMEBRUY
Mo ©)alld0le) (aIUIBGHM

68308 )M O3B BHEM).
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76.

717.

78.

Which one of the following is not
a mammal

(A) Dolphin
(B) Bat
(C) Whale
(D) Shark

The theam of the 'silent spring'
written by Rachelcarson?

(A)
(B)

Origin of Cosmos

Repercussion of pesticides in
the environment

(C) Richness of the beauty of the

nature

(D) Climate change

Which one of the following
statement is not relevant to the
planning page of teaching manual.

(A)
(B)

Planning in modular pattern

Detailed the microprocess of
activities

Include the activities from
Text book, Hand book and
Self developed activities.

(©)

(D) Mention achievement status

of students
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79.

80.

81.

Code No.

LED -@)6s a)@smo)alo ?

(A) 86019 agalglow) (wWleeamy
(B) #6019 agoilglody cwe@ond
(C) o0a1g agmd] wlesaiay

(D) e6e1g agnded] awewons

eB0 I OMV®EIMo B an(NI}AIO]
280 ©R)2I0lE6)008 &HO06Mo ?

(A)
(B)
(©

ool.adl, (2)06)(1’38 =2mcIMo
ool.adl, (006)038 2lon3IMmo

aul.afl. @M emoenI@d oMo
e1€la Blmo

(D) 0oom® anssS @ene)allslay

3lmo

A B C D
odlonm | ol CA() _, | @slmoom
l0Mo alOMo al0Mo RIM|Do

EIWOIW GWoeM] aB® ?
(A) A B—->D—>C
B) C>B—->D—>A
) B>A—->C—->D

) A-C—->D—>B
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79.

80.

81.

What is LED?

(A) Light emitting device
(B) Light emitting diode
(C) Light energy device

(D) Light energy diode

What is the reason for celebration
of the National Science day on Feb.
28?7

(A)
(B)
(©

Birthday of C.V. Raman
Death of C.V. Raman

The day in which C.V.
Raman awarded Nobel Prize

(D) The day in which Raman

effect 1s invented

A B C D
Inte Environmental , Basic
mi‘ifgd 2l sudy |7 S || Seence

Which one of the following is the
most appropriate sequence.

(A) A-B—->D-—>C
B) C>B—->D—>A
) B>A—->C—->D

by A-C—->D—>B
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82.

83.

84.

Code No.

5 9
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DOOMSIWIHS WLNORGAO OO0 af)(®
wowlolecyo ?

(A) 50 kg
(B) 500 kg
(C) 5000 kg
(D) 15000 kg

eI} D@3 af)Mm GRYUOWEOHOS
CWOIE]BHOITD (AINI@OUM aB® ?

(A) alomommow)gs allei@o)

©10) @0

(B)

Alel @lo) omelTmo ) 8s
alOMo.

(©)
(D)
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82.

83.

84.

The soil suitable for agriculture is

(A) Soil having high water storage
capacity, humus, presence of
air

(B) Soil having low water storage
capacity, high humus and
presence of air

(C) Soil having high water storage
capacity, humus and low air
presence

(D) Soil having low water storage
capacity, air presence and

high humus

Labourers lifted a heavy log on a
lorry. They arranged five pulleys
in a 2" order system. Calculate the
actual weight of the log if the effort
applied 1s 1000 kg?

(A) 50 kg
(B) 500 kg
(C) 5000 kg
(D) 15000 kg

Find out the statement which is not
suitable with the assumption of
assessment?

(A) Assessment for learning
(B) Learning for assessment
(C) Assessment as learning

(D) Assessment of learning
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8S.

86.

87.

Code No.

2) & S100 2l & ©1210186)N
MAH(@B:IF0 B ?

(A) ellcwo

(B) alodailseud
(C) eagsesonm
(D) eandsee)erlmy
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(A) wolrumo

(B) emuismo

(©) ayoayoaimo
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(A)  aIElVEeEDE) 012188 aloMo

(B)

Al O (1R U0 BB S8 MS
H6)0M aloMo

al©Tov © o103
O DHIENYBS aloMo

© S 6q]3)

D) aclvoomlay camlw)ss

alOMo

: 501

33

8S.

86.

87.

Name the stellar group illustrated
above.

(A) Leo

(B) Great Bear
(C) Orion
(D) Herculis

The phenominon which do not
occure in plants.

(A) Respiration
(B) Transpiration
(C) Diffusion
(D) Sublimation

Find out the statement which 1s not

suitable to the concept of

environmental study

(A) Learning about the
environment

(B) Various studies occure in the
environment

(C) Learning through the
interaction with environment

(D) Learning for the environment
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88.

89.

90.

Code No.

aloelyelaloBmalnow] N Oalg
al®ond@uUoo ?

(A) ancl®ailgjalo
(B) waigaiqiale
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(B)

29 0aIS1HS)1OS MOV O M
BO0EM M) (M),

@ T® 0@  &1s Mo wlm]
(alG@OWMo GAUMEIQIO)M).
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88.

89.

90.

Which one of the following is
related to the high yield of milk?

(A) Green revolution
(B) White revolution
(C) Blue revolution

(D) Industrial revolution

Which one of the following is not
related to the concept of 'Live
Corner'?

(A) aquarium
(B) Vivarium
(C) Planetarium

(D) Terrarium

the
the

The reason  behind
contraversory about
prohibition of BT Brinjal?
(A) Causes genetic disorders

Causes the distruction of other
plants

(B)

Demand excess use of

pesticides

(©

(D) Lack of adequate nutrients

Set - A
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For answering questions, candidates are advised to follow instruction strictly
given in the question paper and on the OMR sheet.

There will be no negative marking.

The candidate must return the question booklet and answersheet (OMR sheet)
to the invigilator before leaving the examination centre. However, student must
collect carbon/ duplicate copy of attempted OMR sheet from Invigilator before
leaving the examination hall.

Don’t rub, erase, cut, fold or overwrite on the OMR sheets.

Cutting or overwriting in any box provided for answering question will be
deemed to be an incorrect answer.

INSTRUCTIONS FOR FILLING THE OMR (ANSWER SHEET)

USE ONLY DARK BLUE/BLACK BALL POINT PEN for writing and marking
the ovals.

To answer questions, dark only one oval (O O O O ) with black/dark blue
ink, which you consider correct, corresponding to a specific question.

Mark your answer in the appropriate oval against the number corresponding
to the question you are answering, e.g. correct way to mark answer 10 (C) is:

OCO®@O
10. A B C D

The following way of marking should be avoided.

OO0 VO oOR0O OO0OO0O OXONON

If you darken more than one ovals, your answer will be treated as wrong.

Do not put any stray mark anywhere on the OMR (answer sheet) other
than marking in the chosen response.

Do not fold, multiple, tear or wrinkle the answer sheet.

Don’t use backside of OMR sheet for rough work.

Since the sheet will be processed by a machine, write and mark the ovals in
the appropriate space only.

For rough work, use only the pages marked as rough work in the Question
Paper Booklet.

Signature of the Candidate Signature of the Invigilator
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